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= 3,599
= 772
Al 771
307 2Iz2t0| A 10,800 26,499 A 15,699
= 7,560
& 3,240
11T A EXAIEEX 10,800 26,499 A 15,699
ogaH 2 10,800
= 7,560
=} 3,240
AT 2S K& 16,000 19,000 A 3,000
301 et A= 16,000 19,000 A 3,000




AN 0 aE D
M oy - ots=8EX A
& ots=EX X (cho &)

10
x
0
Ja
i
40
=
X
=
1
>
e
g
0x
Jo

0l &t o

=

M
2Hm
==
£l
Ol
0y

01 A28 H =62 16,000 19,000 A 3,000
= A& 1,000,000 «16 % 16,000

Ya=sota N 8,483 14,000 A5,517

2,545
Al 5,938

H

301 2ELE A= 8,483 14,000 N5,517

2,545
5,938

= M

01 AR 2Z A =53 8,483 14,000 A5,517
= X& 8,483

2,545
5,938

= M

2ot geAlls dEEXS 18,773 22,800 N4,027

5,632
Al 13,141

t

301 LEE N F 18,773 22,800 N4,027

5,632
Al 13,141

t

01 A28 X =0dl= 18,773 22,800 ~4,027

Ot YAots dFEXS 18,773
5,632
13,141

= H

YAIEAEOS delxE N 2,722 1,880 842
1,906
408
408

= MW

301 gELE A= 2,722 1,880 842
1,906
408
408

= MW

01 Al 2&H =62 2,722 1,880 842
OLLIE &S delN=zXA 2,722
1,906

408
408

= N H

Ela0ts ANEEES 75,000 66,000 9,000
= 18,750
Al 56,250

301 LEE A= 75,000 66,000 9,000

18,750
Al 56,250

H

01 M2 X203 75,000 66,000 9,000
g0t ANEEHS 75,000

18,750
Al 56,250

H




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
Ots=X X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Ots 2 & X3 A = 335,997 332,852 3,145
= 235,197
< 50,400
Al 50,400

301 gtE L= 335,997 332,852 3,145
= 235,197
< 50,400
Al 50,400

01 M2I2EZE+06l= 335,997 332,852 3,145
OootsZg XI& A 335,997
= 235,197
< 50,400
Al 50,400

X SYAEE SsARE X 520,175 539, 109 ~ 18,934
= 301,066
Al 219,109

101 14l 266,017 233,310 32,707
= 140,110
Al 125,907

03 RIAHAZZ2HE = 266,017 233,310 32,707
OEEHAERENH 2Y 266,017
= 140,110
Al 125,907

201 Let24dH] 35,500 41,500 A 6,000
= 27,500
Al 8,000

01 At 22l 15,300 18,300 A 3,000
OEYAEENH 2Y 15,300
= 13,300
Al 2,000

02 2324l 16,200 16,200 0
OEEHAERENH 29g 16,200
= 11,200
Al 5,000

03 A2 E HI 4,000 7,000 A 3,000
OEYAEENH 2Y 4,000
= 3,000
Al 1,000

202 o4dl 11,600 10,800 800
= 7,800
Al 3,800

01 = LH o4 1l 11,600 10,800 800
OEEHAEBENH 29g 11,600
= 7,800
Al 3,800

301 et A3z 171,058 215,499 AN44, 441




2N
X ZH -
L= B

el

HeEAEN
e - ts=X =
Ot==SX X

[pal

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 101,856
Al 69,202
01 MEI2BZE+06l= 33,400 33,400 0
OEEHAERENH 29Y 33,400
= 20,000
Al 13,400
09 EAAHIE &S 22,000 41,700 A 19,700
OEYAEENH 2Y 22,000
= 12,000
Al 10,000
MIIEEdS3 115,658 140,399 A24,741
OEEHAERENH 29g 115,658
= 69,856
Al 45,802
307 21201 A 30,000 30,000 0
= 20,000
Al 10,000
01 2224l 30,000 30,000 0
OEYAEENH 2Y 30,000
= 20,000
Al 10,000
401 A& HIZ 201 Y] 3,000 5,000 A 2,000
= 1,800
Al 1,200
01 A& HI 3,000 5,000 A2,000
OEEHAERENH 29Y 3,000
= 1,800
Al 1,200
405 XtAtE SHI 3,000 3,000 0
= 2,000
Al 1,000
01 AL EFH S 3,000 3,000 0
OEYAEENH 2Y 3,000
= 2,000
Al 1,000
CEAEBEHH AHE 310,000 40,000 270,000
401 Al HI K 201 I 310,000 40,000 270,000
01 A& HI 310,000 40,000 270,000
OSZYAEIE (24 HEH HE 310,000
Ots=2XAIE K& 13,093,339 13,076, 198 17,141
= 3,212,321
= 2,457,903
Al 7,423,115
Ots=EXAE 28X& 3,769,004 3,593,751 175,253
< 548,851




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,220,153
307 glz2tol & 3,769,004 3,593,751 175,253
< 548,851
Al 3,220,153
10 ALSISXAIEEE 22X 3,769,004 3,593,751 175,253
O0tsS=XAIE 29l 3,769,004
< 548,851
Al 3,220,153
OlS=EXAE SAR SE=E 105,480 0 105,480
< 31,644
Al 73,836
307 21201 A 105,480 0 105,480
< 31,644
Al 73,836
10 ALSISXAIEEE2IHEX 105,480 0 105,480
OO0S=XAE SALL EE€=E 105,480
< 31,644
Al 73,836
Ots=XNAE Es0ts K& 50,000 50,000 0
301 et Aa 3z 50,000 50,000 0
01 MI2ZE 6= 50,000 50,000 0
OOIS=EXAIE BS0tS 2HAIHI(3HAIE)
5003 200 «365&! 36,500
OOts=XAE Ots =S8 b(Z.2)188
Ze 300,000& 45 13| 13,500
OtEEXAIE JIsEZ 9,800 415,822 A 406,022
< 9,800
402 RI2EXt20l ™ 9,800 415,822 A 406,022
< 9,800
02 It 2 AL EZ(OI XM THS) 9,800 0 9,800
OOS=XAE JIsES 9,800
< 9,800
MASH(OtS=EXAIA) 575,000 575,000 0
= 517,500
< 40,250
Al 17,250
307 glz2tol & 575,000 575,000 0
= 517,500
= 40,250
Al 17,250
11T M SXAISE EX 575,000 575,000 0
OOts=RAE MA=G 575,000
= 517,500
= 40,250
Al 17,250




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

AN&0ts XI&

H

Al

117,575

35,273
82,302

166,000

N48,425

307 21201 &

H

Al

117,575

35,273
82,302

166,000

N48,425

1A SXAIS 2 =

OA&ots XI&

= N

117,575

117,575

35,273
82,302

166,000

N48,425

fo
HL
fol
o
oM
IJ
i
o
20
02
-
o

= M W

—

, 138,650

428,820
321,615
388,215

948,483

190, 167

307 21201 A

= M W

—

, 138,650

428,820
321,615
388,215

948,483

190, 167

= M W

, 138,650
, 138,650

428,820
321,615
388,215

948,483

190, 167

zZ W

135,095
52,886
39,665
42 544

129,350

5,745

307 glz2tol &

=z W

135,095
52,886
39,665
42,544

129,350

5,745

10 ALl S XAIE 8 E 22|

Ll
Osiimol ot dH=2Y

= MW

135,095

135,095
52,886
39,665
42,544

129,350

5,745

= MW

698,880
349,440
139,776
209,664

658,560

40,320

= W

698,880
349,440
139,776
209,664

658,560

40,320

698,880

698,880
349,440

658,560

40,320
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2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

139,776
209,664

ANEotsdH 2

02

gl XI&

= M W

.

,484,194
, 742,097

696,839

,045,258

3,461,

844

22,350

307 21201 &

= N W

—

,484,194
, 742,097

696,839

,045,258

3,461,

844

22,350

e
H

ES

11 A2l = XAt

OXZotsHdH Jle23

=z N W

— W w

—

,484,194
,484,194
. 742,097

696,839

,045,258

3,461,

844

22,350

Jm
1
o
Jd
og
>
10

= MW

90,336
36,168
14,467
39,701

72,

336

18,000

307 glztol &

= MW

90,336
36,168
14,467
39,701

72,

336

18,000

= W

90,336

90,336
36,168
14,467
39,701

72,

336

18,000

= W

170,820
85,410
34,164
51,246

356,

352

N 185,532

307 21201 &

zZ W

170,820
85,410
34,164
51,246

356,

352

A 185,532

1A SXAIE 2 =

OER=Y XNAotsHH

= HnH

170,820

170,820
85,410
34,164
51,246

356,

352

N 185,532

KANAOotSHEH SAA ==&

270,000

243,

000

27,000

307 21201 A

270,000

243,

000

27,000

10 AFRIS XA 2 HE 23

OXlZots4dH

o
=
pal
H o
]
i
on

o
S
()
o
i
>*
()]
(e)
02
*
no
1t

270,000

270,000

243,

000

27,000




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
XNABOtsSHEH SAXNHSIHAH] 172,080 142,800 29,280
== 34,416
Al 137,664
307 2Iz2t0| A 172,080 142,800 29,280
o= 34,416
Al 137,664
10 M SXNAEEHESIGHEX 172,080 142,800 29,280
OXNAOtSHE SALA MRS HI 172,080
& 34,416
Al 137,664
NEotsHE A A& 2,183,175 2,134,800 48,375
& 462,093
Al 1,721,082
307 giztol & 2,183,175 2,134,800 48,375
& 462,093
Al 1,721,082
11T A EXAIEEX 2,183,175 2,134,800 48,375
OX<SE0otsdH St S4AH X 1,848,375
& 462,093
Al 1,386,282
OXYol=sHdEH EQ2dE 24AH X& 172,800
OX<EotsHdEH 2-AH| 162,000
XAotSHEH SAHUS 8,200 9,500 A 1,300
307 QI2t0| ™ 8,200 9,500 A 1,300
11T A EXAIEEX 8,200 9,500 A 1,300
OXE0tsHdEH &t0ts SAUE 8,200
NEOotsHE . et XI& 13,200 0 13,200
307 212t0| & 13,200 0 13,200
10 M SXANEEHESIHEX 13,200 0 13,200
OXE0tsHE W, etd] K&
200, 0003 *66H 2~ 13,200
X E0otsHE MW P2H XS 13,200 0 13,200
307 2I2t0| & 13,200 0 13,200
10 A SXNANEEHESIH EX 13,200 0 13,200
OXNYGOot=sHdH WAHRFH X
200,000 664 A 13,200
OISEXAIECHH EX2 A3 XA 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
02 Q2B AMAIE E =X 2,000 2,000 0
OXGOSHHE LT ZME (MZAI XS0t Al
HAssl) 2,000
XNEotEsHEH JIsE2 49,050 39,000 10,050

- 22 -




2AMd:
o

el

EE=ENSn

- os=A 58

OlS=XAIE K&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 49,050
402 SI2FAHE0| & 49,050 39,000 10,050
&< 49,050
02 CIZEXIEAIS EX (0| XM THL) 49,050 0 49,050
OXYE0ot=sSHH JsEZAY 49,050
=} 49,050
OlS RIS A LAY 28,000 15,000 13,000
201 et | 23,000 15,000 8,000
01 AP 22| d| 15,000 15,000 0
oOolsdel Ns(LAE 2 5) 5,000
oot=sZel EE(2E ME S) 7,000
OO0IsS A EHNEZALA HI & 1,500
OO0ts &l 3ol A A M2 1,500
03 A2 HH| 8,000 0 8,000
O0lsSM2LIsHt 29 (38 &) 5,000
OO0ts &3tz HOolLE i =l 3,000
308 XHXIEH SO0l A 5,000 0 5,000
07 AKX SHH2HESZ2 5,000 0 5,000
OO0IsaT=A =& IYELEE2 S XXl SHA
2t 2432 5,000
OIS TS EZA ZHRAJS 29 9,600 9,600 0
201 LBt | 9,600 9,600 0
01 AP 22| H| 9,600 9,600 0
OOsSETITA ZH/ARS R HEFELH
80,000& 12H x4 3| 3,840
O&= Ol0l= U20IY /g &84
80,000 *8H *63] 3,840
O0ls&l3g 23 A]3 Y &L
80,000 *8H *33| 1,920
28 A& 117,383,925 114,351,008 3,032,917
= 65,826,112
o=t 36,555,824
Al 15,001,989
252 g 68,244,084 64,556, 109 3,687,975
= 51,183,062
o= 6,824,409
Al 10,236,613
301 et A= 68,244,084 64,556, 109 3,687,975
= 51,183,062
= 6,824,409
Al 10,236,613
01 A& A 2523 68,244,084 64,556, 109 3,687,975
og9RotEEz XN 68,244,084
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FM: HEFEAE W
Hu: oM - OlS=X A
ol 28 X8 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 51,183,062
< 6,824,409
Al 10,236,613
SHI~5M el EEER 27,196,200 27,742,560 A 546,360
< 27,196,200
301 gt 4= 27,196,200 27,742,560 A 546,360
< 27,196,200
01 MI2EZE 6= 27,196,200 27,742,560 A 546,360
O3MI~5M el EESR 27,196,200
< 27,196,200
Faots ¢: B2 72,000 103,200 A 31,200
< 54,720
Al 17,280
301 L2 A F 72,000 103,200 A 31,200
< 54,720
Al 17,280
01 MEIBEE 2053 72,000 103,200 A 31,200
OF&0ls ¢z B2 72,000
< 54,720
Al 17,280
SIS ANALAH E2I 300,000 300,000 0
307 giz2+ol & 300,000 300,000 0
05 RIZHRI & 3 300,000 300,000 0
ONEFASOUHSEANINH 2 300,000
ESUAR EE=E X 1,451,400 1,350,000 101,400
301 et a3 1,451,400 1,350,000 101,400
01 A3l EE H 56l = 1,451,400 1,350,000 101,400
O3 =0l & 30,000& *2,500H x12& 900,000
o3d ol 224 30,000& *440H 123 158,400
Q54014 22X 50,000 «655H «12& 393,000
g5 =XXA 20,000 17,100 2,900
307 glz2tol & 20,000 17,100 2,900
11 AISI S XA E = 20,000 17,100 2,900
Oollel =00l& A& 20,000
Heold Esndd M IHS HYXA 57,600 59,850 A2,250
307 glz2+ol & 57,600 59,850 AN2,250
06 23 57,600 59,850 A2,250
O0eold Esndd HMIH It
12,000& *4,800H 57,600
Helold oelol e+dEHal oty XA 116,600 121,900 25,300
307 i+l & 116,600 121,900 A5,300
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fA: O

EE=ENSn

Hu: oM - OlS=X A
ol 28 X8 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
06 282 116,600 121,900 A5,300
OE KOt ZM 3 I 5,000€ *22,000H 110,000
OsSHAIE X 300& «22,000&H 6,600
DIZ2ZIHEIOI Y E= WA E83 K& 180,000 187,200 NT,200
307 2Iz2t0| A 180,000 187,200 NT,200
06 22 180,000 187,200 ANT,200
OBRIZI2I0IZE BSWAI BE8€2(122)XH
6,000 2,500 x12& 180,000
el ol SHIMNSEAY 90,000 90,000 0
307 QI2t0| & 90,000 90,000 0
11 A EXAIEEX 90,000 90,000 0
ONE0IE SHIMSEALE 90,000
OlsEE4YH BX=2 &F3 XS 10,000 10,000 0
307 2Iz2to| & 10,000 10,000 0
02 QIZFAAAIE E X 10,000 10,000 0
OMMNEE EHYI|IH(2I2HRI0IEHES]) 3,000
OEAD Ol SXNHE(HANSI0IEAE ) 3,000
O222 sNols =ME(IIENBI0IEAS ) 4,000
S SESAIA DM WPH X2 6,000 8,000 A 2,000
301 LBt A= 6,000 8,000 A 2,000
01 Al E & A 462 6,000 8,000 A 2,000
ONE SFSAIE WMPH X
400,000 1500 &~ 6,000
IIEsdEY XSAY 19,312,119 19,558,581 A 246,462
= 14,484,089
= 2,414,015
Al 2,414,015
301 Bt A= 19,312,119 19,558,581 A 246,462
= 14,484,089
== 2,414,015
Al 2,414,015
01 Al E & A 462 19,312,119 19,558,581 A 246,462
OJNE A= X 19,312,119
= 14,484,089
=} 2,414,015
Al 2,414,015
AN2AXISE BE=X& 217,922 246,508 N\ 28,586
= 108,961
= 54,480
Al 54,481
301 et A= 23,972 50,000 N 26,028
= 11,986
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2N
X ZH -
L= B

el

CEEE-PSE
os - OIS=X S
25 N

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

5,992
5,994

= N W

23,972
23,972

11,986
5,992
5,994

50,000

N 26,028

307 glztol &

= N W

193,950
96,975
48,488
48,487

196,508

A 2,558

= M W

193,950
193,950

96,975
48,488
48,487

196,508

A 2,558

H

Al

20,000

10,000
10,000

20,000

307 21201 &

H

Al

20,000

10,000
10,000

20,000

N
=]
S
0
0z
>
Q
HT
P

©
Ao
IS
O
]
-
o
rx
o
4t
]
EJ
Ho
>
©

H

Al

20,000
20,000

10,000
10,000

20,000

02
J
D
alo
()
L
v
10

HAHA X2

10,000

10,000

10,000

10,000

10,000
10,000

10,000

= N W

80,000
40,000
12,000
28,000

80,000

401 AIEHIZ 2 HYI

= N W

50,000
25,000

7,500
17,500

50,000

01 A& HI

O0eold &5

= MW

50,000

50,000
25,000

7,500
17,500

50,000

405 At&tE =H|

oW

30,000

15,000
4,500

30,000
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ARG RS~

M HAd 25 84
R HAY S5 AL (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oO&= FA4Y Ot=&dAUS3 20,000
&= B-boy D& 120,000 180,000 A 60,000
307 giztol & 120,000 180,000 A 60,000
04 DIZ2tSHALALS B X 120,000 180,000 A 60,000
O& = B-boy Q&=L 120,000
HAYE Bl 1,145,053 987,392 157,661
= 14,375
J| 557,172
o= 133,502
Al 440,004
Had Bse &9 NH 19,600 8,000 11,600
201 et 9| 19,600 8,000 11,600
01 AP 2t 2] H| 19,600 8,000 11,600
OFAHE Bs2e 849 N 19,600
@I AT LZXA 5,200 3,000 15,600
@t n=2foigols ALY 2,000
Q@AY AT EEZ2 HZ 1,000,000 23] 2,000
HAEG WSO 29 690,982 622,512 68,470
J| 345,491
& 103,647
Al 241,844
307 2iztol A 690,982 622,512 68,470
J| 345,491
& 103,647
Al 241,844
02 QIZ2FA AAIE E X 690,982 622,512 68,470
odAFYWZOIIMIO0 2F 690,982
J| 345,491
= 103,647
Al 241,844
HAadE M2 AEHYE 20 I 10,000 10,000 0
= 10,000
307 QI2t0| ™ 10,000 10,000 0
= 10,000
02 QI2tAMAIE E X 10,000 10,000 0
oOFA4dE Xz MHHYsE Tz)d XS 10,000
& 10,000
HAESMHSE 2AE X3 12,750 12,750 0
= 6,375
Al 6,375
307 2Iz2t0| & 12,750 12,750 0
= 6,375
Al 6,375
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ARG RS~

M HAd 25 84
el Ead Bs2e| (&)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 It M AHE L 12,750 12,750 0
OFAYE FoSIZAY 29 12,750
= 6,375
Al 6,375
NEAS AESEXNIAMA 2= 90,100 87,670 2,430
| 45,050
Al 45,050
307 21201 A 90,100 87,670 2,430
| 45,050
Al 45,050
02 LAFAAFEX 90,100 87,670 2,430
O&EF=A B44E SEXNE MA2H 90,100
| 45,050
Al 45,050
FAaE MNZ2EM Q STNESANS WS 6,250 6,250 0
< 5,000
Al 1,250
307 21201 A 6,250 6,250 0
< 5,000
Al 1,250
02 It S AHE L 6,250 6,250 0
OFAW RYM U SADNZAYDS 6,250
< 5,000
Al 1,250
HAEAEEMI SSL3 FAS 9,500 9,500 0
307 glz2tol & 9,500 9,500 0
02 IZtE M AHE X 9,500 9,500 0
OHELGEANE SAXN 223 |3IAS 9,500
HAESEHL} Z208 29 68,862 68,860 2
| 34,431
Al 34,431
307 21201 A 68,862 68,860 2
| 34,431
Al 34,431
02 LB AAHFEX 68,862 68,860 2
O3AE SN Z20d 2EXH 68,862
| 34,431
Al 34,431
HdAadEs0te KA 20,000 16,250 3,750
= 8,000
< 5,000
Al 7,000
307 gl2tol & 20,000 16,250 3,750
= 8,000
< 5,000
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ARG RS~

M HAW 5 84
chelr BAW 2532 CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
Al 7,000
02 QIZFA AAIE E X 20,000 16,250
od3A4E S0t2l 29 20,000
= 8,000
o= 5,000
Al 7,000
HAiE EEXE 25,109 25,500
J| 18,000
=} 3,555
Al 3,554
301 et A= 25,109 24,900
J| 18,000
= 3,555
Al 3,554
01 AMFSIEXEE 4562 25,109 24,900
odFA4dE EYXE 25,109
J| 18,000
& 3,555
Al 3,554
NEHAEHFWHI PR 29 12,800 12,800
J| 6,400
Al 6,400
307 2Iz2t0| A 12,800 12,800
J| 6,400
Al 6,400
02 QIZHAAAIE E X 12,800 12,800
ONFAFHLAEHENHR S S 2,800
J| 1,400
Al 1,400
OFsHsBAL2LAAS 10,000
J| 5,000
Al 5,000
sty 2 HAE X 154,000 82,800
J| 107,800
Al 46,200
307 2I2t0| & 154,000 82,800
Jl 107,800
Al 46,200
02 QI AAIE E X 154,000 82,800
ostns HAEXJ 154,000
J| 107,800
Al 46,200
StNEH etzz ) 29 4,500 4,500
307 2iz2to| A 4,500 4,500
02 QIZ2IA AAIE E X 4,500 4,500
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2N

HeEAEN

M HAd 25 84
R HEAUAE 29X )
x 5 - 4
SA BB (SH) - NRAY - B %@i 2t
Q@S NEAEE2SO 165,480
Q@NEFANEFAENRHEH 200,000
OZALAFH K & HI 93,178
o LHE A ESEH 2 17,471
QA ALNFAEHRSS O 14,559
Q@NFTHAUERGOE 14,559
QERN=SHAEHRSOE 14,559
QO NEALAER259E 14,559
Q@EFANEFEALAENRHEH 17,471
HAEX S A BH XX 106,800 103,680 3,120
J| 53,400
Al 53,400
307 2Iz2to| A 106,800 103,680 3,120
J| 53,400
Al 53,400
02 QI AAIE E X 106,800 103,680 3,120
OFAELAEANAE NTA BHXIX& 106,800
J| 53,400
Al 53,400
HAGMSEIHE 29 NS 198,428 195,428 3,000
& 22,000
Al 176,428
307 gizto| A 198,428 195,428 3,000
= 22,000
Al 176,428
02 AI2tAAMAIE E =X 198,428 195,428 3,000
OFAYHE AGETHEH 2HA 198,428
== 22,000
Al 176,428
HEAUHSSIHEH2H 233,602 150,915 82,687
J| 142,540
o= 42,762
Al 48,300
307 212t0| ™ 233,602 150,915 82,687
J| 142,540
o= 42,762
Al 48,300
02 QI AAIRE E X 233,602 150,915 82,687
OFAHE HdE2sidH 29 & 233,602
J| 142,540
& 42,762
Al 48,300
Haddy 29X 533,935 522,427 11,508
J| 248,166
& 74,450
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2N

HeEAEN

M HAd 25 84
el HAUAY 29X @ (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 211,319
307 glz2tol & 533,935 522,427 11,508
J| 248,166
< 74,450
Al 211,319
02 It M AHE X 533,935 522,427 11,508
oOHIIEAY HHR2Y 373,932
J| 173,536
< 52,061
Al 148,335
Os&EIIELYE dH2Z 160,003
J| 74,630
< 22,389
Al 62,984
ZOHOtSEAYE & QAWNE ATAE2SE 10,000 20,000 A 10,000
= 10,000
307 glz2tol & 10,000 20,000 A 10,000
= 10,000
02 It M AMHE L 10,000 20,000 A 10,000
OX Ols . dAHE & HAD=F 10,000
= 10,000
SEENS2UOIE 2 Ag22sH B&E23 113,748 40,884 72,864
09 MEZ 113,748 40,884 72,864
01 SAL- SHINTES 113,748 40,884 72,864
O=*E0ISdUHOIHER2Y Algd2elsH 85
= 113,748
HAE AL A 292,660 315,000 A22,340
= 20,660
Al 272,000
FAEAE E=ZA 60,000 99,000 A 39,000
401 A& HIZ 201 I 60,000 99,000 A 39,000
01 A& HI 60,000 99,000 A 39,000
OFALHE Ald ZAHBMHZA) 60,000
FAEAE FH |X2el 32,660 16,000 16,660
< 20,660
Al 12,000
405 TtabF S| 32,660 16,000 16,660
< 20,660
Al 12,000
01 et EFSFHSHI 32,660 16,000 16,660
OFAEAIE ZH WA (6IH2) 12,000
OENEAEURHYY 2EF7Y 20,660
< 20,660
HE0l 23t 2228 200,000 0 200,000
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2N
X ZH -
L= B

el

HedEA24E
Aol B85 4
FAE AL HA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OFFHAEURSOE cl2ed 200,000
CtE23tAIS A& 1,227,590 1,180, 131 47,459
J| 494,440
= 220,066
Al 513,084
Ct23tAal X & 1,227,590 1,180, 131 47,459
J| 494,440
= 220,066
Al 513,084
ChESIIEXNJNH 29 163,134 158, 144 4,990
J| 81,567
= 24,470
Al 57,097
307 2iz2to| A 163,134 158, 144 4,990
J| 81,567
= 24,470
Al 57,097
11T AISIEXAIEEX 163,134 158, 144 4,990
OLESISXNIAHEH 29 163,134
Jl 81,567
o= 24,470
Al 57,097
HEHSYE &L ANHEHME S 2SS AHA IS 202,350 202,350 0
J| 141,645
=} 20,235
Al 40,470
307 2I2t0| ™ 202,350 202,350 0
J| 141,645
= 20,235
Al 40,470
11 A EXAIEEX 202,350 202,350 0
OXNHY=E Y IHUEHMES 2 MUHA XIH 202,350
J| 141,645
= 20,235
Al 40,470
CIE23ItE At &tel X & 48,500 48,500 0
J| 33,950
&< 4,850
Al 9,700
307 2Iz2to| & 48,500 48,500 0
J| 33,950
= 4,850
Al 9,700
11T AISIEXAIEEX 48,500 48,500 0
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AN 0 aE D
dM: O23tAte XA
CtE23HALS X1 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLIZsItE Atedl2tel XI& 48,500
J| 33,950
< 4,850
Al 9,700
ZE0I2A HEH XA 3,000 3,000 0
J| 2,100
< 300
Al 600
307 21201 A 3,000 3,000 0
J| 2,100
< 300
Al 600
11T M SRASEX 3,000 3,000 0
OZE0I2A HEH XA 3,000
J| 2,100
< 300
Al 600
G2t EXJAHEH SAE XA 25,795 25,043 752
< 10,318
Al 15,477
307 gl2tol & 25,795 25,043 752
< 10,318
Al 15,477
10 AL SXNAIEEE2EH EX 25,795 25,043 752
OUZIEXNJAEEH SAA XA 25,795
< 10,318
Al 15,477
ChE3NEXNHEH SAL = 21,960 6,480 15,480
< 6,588
Al 15,372
307 g2+l & 21,960 6,480 15,480
< 6,588
Al 15,372
10 AL SXAIEEE 22X 21,960 6,480 15,480
OUZs ISR HE SALA =& 21,960
< 6,588
Al 15,372
Ch2stEXJHEH = 20,400 20,400 0
201 et 20,400 20,400 0
01 At 22l 20,400 20,400 0
OURAINEFXNHAEH LXZ (35 ,45)
1,700,000& 20,400
0l JIE8d =4 28,154 33,286 25,132
J| 19,707
< 2,815
Al 5,632
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AN 0 aE D
dM: O23tAte XA
chel: OEtAE K& (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 28,154 33,286 25,132
J| 19,707
< 2,815
Al 5,632
11T M SXASEEX 28,154 33,286 N5, 132
O0lIs2N H=Ed =4 28,154
J| 19,707
= 2,815
Al 5,632
O23ts Edogg XI&A 83,213 83,213 0
J| 58,249
< 8,321
Al 16,643
307 21201 A 83,213 83,213 0
J| 58,249
< 8,321
Al 16,643
11T MISRASEX 83,213 83,213 0
OU=23IIE MEAHYE K& 83,213
J| 58,249
< 8,321
Al 16,643
Ch2shtd ASSHAAEY 21,400 21,400 0
< 8,560
Al 12,840
307 gl2tol& 21,400 21,400 0
< 8,560
Al 12,840
11 ALS S XAEE = 21,400 21,400 0
OUZaIE d=2SHAAY 21,400
< 8,560
Al 12,840
CtE30tE DELIS0l At 108,000 108,000 0
= 21,600
Al 86,400
307 glz2tol & 108,000 108,000 0
< 21,600
Al 86,400
11T MIEXAS EX 108,000 108,000 0
OUR23IIE DELIS0l AlY 108,000
< 21,600
Al 86,400
NI 223 dFXNE 16,000 18,000 A 2,000
07 212t01 & 16,000 18,000 A 2,000
02 QB AAFEX 16,000 18,000 A 2,000
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AN 0 aE D
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OU=2aIE MERUSE L HE(HFANHY
S el3l) 5,000
OC =23l 220 HSZENE (M
SZY2sdH) 5,000
OZEO=0A MIZ2HES CH2AS XA (
EHSHE) 3,000
OUR3IE RAd FSFUA 2 (2LSME
Lis o 8tal) 3,000
23 =8 SN ALSE 30,000 30,000 0
< 9,000
Al 21,000
307 gl2tol & 30,000 30,000 0
< 9,000
Al 21,000
11T M SXASE EX 30,000 30,000 0
OUZs HEE 23R J ALY 30,000
< 9,000
Al 21,000
Ct2stotsstd 249 71,820 70,007 1,813
= 28,728
Al 43,092
307 glz2+ol & 71,820 70,007 1,813
= 28,728
Al 43,092
11T MISXASEX 71,820 70,007 1,813
OXYdH C=2st0t=std 29 71,820
< 28,728
Al 43,092
Ch2stdad 2 K& 10,000 10,000 0
= 4,000
Al 6,000
307 21201 A 10,000 10,000 0
< 4,000
Al 6,000
11T M3 SXAISE EX 10,000 10,000 0
ot2stdaardE &2 X 10,000
< 4,000
Al 6,000
=23t FEHE 80 G20 &M 13,000 13,000 0
201 ¢er24l 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
O=Zste ZHEs €0 U235 N 5,000
Osgt= 1R 23 ME 5,000
301 et A Z 3,000 3,000 0
09 AL HIE &= 3,000 3,000 0
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AN 0 aE D
M O2A XA
&S OG2atAte X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OR3tel #YEs 90 LR U (A
& Hl) 3,000
st=0us 2949 22,162 22,162 0
J| 15,513
< 2,216
Al 4,433
307 gl2tol & 22,162 22,162 0
J| 15,513
< 2,216
Al 4,433
11T ASI S RAEE = 22,162 22,162 0
Ost=0us 2L 22,162
J| 15,513
< 2,216
Al 4,433
ZE0I2X SHAMHA XA 51,696 51,696 0
J| 36,187
< 5,170
Al 10,339
307 glz2+ol & 51,696 51,696 0
J| 36,187
< 5,170
Al 10,339
11T MISAASER 51,696 51,696 0
OZE0I2UA S - HAAMH A 51,696
J| 36,187
< 5,170
Al 10,339
ZE0I2UR HAEHUT 18,000 20,000 A 2,000
< 7,200
Al 10,800
307 21201 A 18,000 20,000 A 2,000
< 7,200
Al 10,800
11T ALS S RAEE = 18,000 20,000 A 2,000
OZS0l2UX HNHYEHUS 18,000
< 7,200
Al 10,800
ZS0I8X sAFHSE XA 55,500 54,600 900
< 22,200
Al 33,300
307 glz2tol & 55,500 54,600 900
S 22,200
Al 33,300
11T M Z2XAISE EX 55,500 54,600 900
OZS0l2X st FHSE KR 55,500
= 22,200
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AN 0 aE D
M O2A XA
&S OG2atAte X (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
| Al 33,300
Z S0/ X st StHIX & 12,000 15,000 A 3,000
< 4,800
Al 7,200
301 gtE L= 12,000 15,000 A 3,000
< 4,800
Al 7,200
01 MI2EZE 6= 12,000 15,000 A 3,000
OZE0I2A CHE: SHIXI A 12,000
< 4,800
Al 7,200
ZAUHOFHEESAIE2E XA 150,746 147,370 3,376
J| 105,522
< 15,075
Al 30,149
307 glz2tol & 150,746 147,370 3,376
J| 105,522
< 15,075
Al 30,149
11T MISRASEX 150,746 147,370 3,376
OZ4LUoH0I=0E EsAE 2EXE 160,746
J| 105,522
< 15,075
Al 30,149
ZELTIH0IFTHEESAIE AN SXxE 20,760 18,480 2,280
< 1,620
Al 19,140
307 21201 A 20,760 18,480 2,280
< 1,620
Al 19,140
10 AL SXNAIEEE2EHEX 20,760 18,480 2,280
O=ZIH0I=HEESAIE AL =X 20,760
< 1,620
Al 19,140
ZA0H0I=HE ESAIE JIsEZ 30,000 0 30,000
< 12,000
Al 18,000
402 RI2EX=20| A 30,000 0 30,000
< 12,000
Al 18,000
02 QI EAILEZ (01X S) 30,000 0 30,000
OO0F=HHEESAE JIsEd 30,000
= 12,000
Al 18,000
HE2LAIH(HEEAE ) 93,776 85,544 8,232
Jl2du (s AdE) 93,776 85,544 8,232
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ARG RS~
H: HH2IAH(HHHAED)

Eel: 23U (6E8dEAaE ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl2dH (8= AED) 93,776 85,544 8,232

201 £B-2d| 47,816 43,904 3,912
01 At 22l 47,816 43,904 3,912
O Et==EH| 23,200
o=zg=¢ 10,000
O= &l 14,616
202 O4dl 41,760 37,440 4,320
01 = LH o4 4l 41,760 37,440 4,320
OJI2gR =& 41,760
203 YR =2l 4,200 4,200 0
04 NI ZAH 4,200 4,200 0
ORN2IEYEF=AHI 350,000& 128 4,200
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